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[C] 16.’'m going to buy some medicine at the .

(A) apartment (B) sports center (C) drugstore
[B] 17. Thisismy ___ birthday gift.

(A) interesting (B) favorite (C) convenient
[A] 18. If you want the job you should prepare for the  tomorrow.

(A) interview (B) accident (C) excitement
[A] 19. Paul hates seafood so he refused to eat the  on his plate.

(A) clams (B) radishes (C) patches
[B] 20. Cities are too noisy. I prefer small .

(A) basements (B) villages (C) supermarkets
[D] 21. What’s wrong? You look .

(A) sadly (B) happily (C) exciting
[B] 22. My choir won first prize in the singing .

(A) superstition (B) competition (C) tradition
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(D) bookstore

(D) diligent

(D) department

(D) yogurt

(D) factories

(D) nervous

(D) constitution
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[B] 23.If it is raining, can I borrow your __ ?

(A) temperature (B) umbrella (C) headphones (D) chopsticks
[D] 24.1have a good __ with my father.

(A) rational (B) friend (C) ownership (D) relationship
[B] 25. Nancy never ___ her values.

(A) reassures (B) compromises (C) stimulates (D) startles
[A] 26. Sam worked hard and went to university, though his parents are not even .

(A) literate (B) glutinous (C) reserved (D) chaotic
[C] 27. Be careful. This medicine will make you .

(A) dramatic (B) flexible (C) drowsy (D) spiritual
[B] 28. The terrible news __the whole world.

(A) situated (B) astonished (C) glistened (D) deserved
[A] 29.T’ve been asked to ___in court tomorrow.

(A) testify (B) devote (C) impress (D) cultivate
[B] 30. _  understanding is important in this business relationship.

(A) Digestable (B) Mutual (C) Satisfying (D) Apparent
[A] 31.Recent __ have brought about many changes in our business.

(A) innovations (B) centerpieces (C) boutiques (D) vacations
[A] 32. These negotiations are ___to the future of our company.

(A) crucial (B) gaping (C) sensitive (D) skilled
[D] 33. The train was full of ___ heading to work.

(A) reputations (B) nationalities (C) accommodations (D) commuters
[C] 34. The measurements weren’t . They were all off by at least a centimeter.

(A) shakeable (B) verticle (C) accurate (D) lavish
[C] 35. Before roads were built,  were used for transportation in this area.

(A) plastics (B) blisters (C) canals (D) auctions
[D] 36. When the robbers started shooting, the police ___fire.

(A) moved (B) changed (C) transferred (D) returned
[D] 37. Your supervisor asked me ___ you.

(A) help (B) helps (C) helping (D) to help
[C] 38. John spent a fortune on that sports car. __, he never drove it.

(A) Irony (B) Ironic (C) Ironically (D) Ironical
[D] 39. Melody feels  when she stays at home.

(A) bore (B) to bore (C) boring (D) bored
[A] 40. If it is bothering you, you should tell your boss __ you feel.

(A) how (B) what (C) where (D) when
[D] 41. Marvin likes _ with his wife.

(A) hike (B) hiker (C) to go hike (D) to hike
[C] 42. _ the new recreation center?

(A) Have you gone (B) Did you go (C) Have you beento (D) Are you going

[C] 43. Michael has devoted his entire career ___ people live happier lives.
(A) to help (B) for helping (C) to helping (D) for being helped
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[A] 44. Next,  the software to calculate the fee we will charge.

(A) use (B) to use (C) using (D) used
[D] 45. The reference books are there if .

(A) need (B) needs (C) needing (D) needed
[B] 46. Our director would want this completed ___left for tomorrow.

(A) better than (B) rather than (C) more than (D) other than
[D] 47. The initiative by Team 3 is attracting new customers.

(A) propose (B) proposes (C) proposing (D) proposed
[B] 48. We have a limited amount of time so deciding ___ to do first is important.

(A) when (B) what (C) where (D) how
[C] 49. The students were busy ___ for parts in the school play.

(A) audition (B) to audition (C) auditioning (D) auditioned
[D] 50. None of the classes ___ are appealing to Zoe.

(A) list (B) lists (C) listing (D) listed
[D] 51. We still don’t know why one of the employees  at work last week.

(A) faint (B) faints (C) fainting (D) fainted

[B] 52. After careful planning and a lot of work, the laboratory ___ into a media center earlier this year.
(A) which transforms (B) was transformed (C) had to transform (D) has been transforming

[A] 53. Weneedto __to the changing market.

(A) adapt (B) adapts (C) adapting (D) adapted
[C] 54. She thinks that __the old office will be cheaper than building a new one.

(A) renovate (B) renovates (C) renovating (D) renovated
[A] 55. Let’s find some books __ accounting.

(A) on (B) with O to (D) of
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